% 3648 M 4% 1 07 ) 3

PSERGE PN ST



RFERIFEMEFELI N BEAM

KRR MR AL



© #H¥e EfF 2013

EH7ERRS B (CIP) i

KEFRRRIT D HAR. 2/ W, T TS . — K& . RERFREH R,
2013.5
ISBN 978 -7 — 5632 — 2865 -2

I Ok 0. OF @F— M. OHE—UTBEE—r S —Hh
IV. MH319.9

Hh [ AR PR A CIP dfi A% 3 (2013 ) 55 115341 5

KIE GRS H AR H AR
Hodik AET R MRS, R4 116026  HLiE :0411-84728394  f%EL:0411-84727996

http://www. dmupress. com  E-mail : cbs@ dmupress. com

KBEAE A EN A B W] 04 ki AR M RRAE B AT
2013 4E5 A% 1 1 2013415 A1 KENR
MR N 2185 mm x260 mm FPgK .15 FH.307 T
LB B RER

TALHE R = et M ERER
HER T SRR ARE R

ISBN 978 —7 — 5632 — 2865 -2 SEMY 229,00 JC( FESRE)



R BET 1B A AR ST )2 T B TS , O EL 5% o4
Pt A D% ST 43T A 0 SR M 8 A I G, RS BRI S =
Wb 585 1 AR T 0, B T T B I, B KR P AT S )
DU B 8 A3 T\ 450 505 2 WHERE 4 T =9, 65 1 RO 7 B0 U0 5 S L, R
K ST P ST 7343 DU R E 176 % PRI 45, 2 T T 46 75 O DL 45 3
RIS AT 44 P20, AR 3K A K2 B Dt T ) SR T — 2 AR VI 55
ESES T

—. HEHE

T A S B DU AP WSS 317, A 2005 4T 4, 4 R K2 BEHE DU
LI 7 00 L 7 EL MR EOR 19 20% 375 51 35% 5 IFF ) RSt 2 B  BRGEAT 10T J) RIS
F 7 SR T KX 3 FLAET 3 67 SCERAR 0 50 8 T 5 207 5, B, e
B B LR IT SR ST ARSI A1 % e DL (LA U5 T A
EHR,

— . REFR

AR RS ATIAGH R LR LA 7 i

LA e, 92 I PR .

AEHARE R H 185 SR A AR T K V-2 22 A5 LG, R 3 3 i 14 )1 25
JEEU , AR F e DU 9% 5 0T 3 4 DU AR Ry IR X, bl Wi 3025 (R AT T 3 i ot I
FUASALLIR [ Y1 2 28] LA S e e I e, PR 5 92 A T () B8 g ol S G0 i 2ot
e

2. f8 EUMRE RS

55 UIF(— 290 B8 7 DAEWT T3l SR Bobt A S 1 b5 2o BB G, LLR A1 Y
G TR S I A B W B 1 32 =l il A B & T R v (o 9 28 50 A L2
Gl A R T 2p AR W 2 20 I D4R S BL, I B o AR T T RE . B2 (=
9 5 T POt BRI S, B AT S 5 B SLIE 55 3 (DU SR ) T A DU SR R S i
g e — DR E W I E



3. AR, SR

A R 1 AR T 15 B RS 1) I PP B P o A TR A 2 B el O AT T34
1 LA AR B ARSI PR P | SR 1 2 U 32 5T B, BT 3 N A A S
MARL

= (ERfERE

S R RN RV S GO T2 e BT o6 TR UT JKF 1 B 2 B RS, 75 AT
FEE R R 20T 1 R S, (RBP4 0 00 T O ), ST LS . A
SRR AT LA [R5 25 KOS [ e R, T LA D R B R e e e 3 1%
WSS TRASAE . FRE ME TR A — AR AL 5 2 W& TR S AR
4 |- 2p W 5 3 AT AE K 3R ARG T EIE

A R 42 TR AT S R AR L 3R ) AR 2 B I R ) (1 20K
B 2 i S RS , A0S RN A 75 2 T MU AR 5 B B, ST i
AT T5 (R A2 A 9 0 3 1 %, T AR A A B g 2 ST Sk B S D A R
U 1o = U AT P VT A1 I, 2 A R S DU B A AR

T LR M 75 2R T A R TR A — ) RIR A B SR O R SR B U 1Y
LRMFEHFNIAEHRBRE R R

B A
2013 45 1



B

F—#s WhEDUNEZ

Modal 1 ssmsss sussne sswave sones saesns ssesss SEEbss woes s 55e 66 3183/ §5me 8 TUpaY aFoms slemsts ¥ maias sisisioiss 3
MOTEL D oot choinss 05503 555505 00946 FFEHS SHTES HPRTH 5 HVSE S FHISET IRFES RHSTE S HUSITE & S0RI0H £ HWDTE > 9GIHIH 3 7
MIGAEL B e w-simreies o wiomse swisare sscsaios swiiaion v omniom oot im.s imowirm im om e i bbbl S50 000 5408 5 SRR SO 11
1 U 15
Madel 5 s sums s ssmen s svann s anion ¥ siuion ssisis S50 S8 EaRE TESAT LARENS HETHS NATHISs HRTAS HOTEWS FAEORS HaTa 20
Mol 16: 555 sioians ssmuna suwans s5ais s a5 Sasme s SHES S RREH HOEFE8 HUREHS THETHR HE IR EIF A NSRS ATOTEH IS 24
MGHEL T +oe wmaminn imenin s st oo § i s Bins 8 3008 G 5505 S TSR W HOTTTH IO BN SN 18 U5 S 28
1Y P P I S 33
1 s P R 37
Model 10  sswwes ssusns sumnsn awwnns sowsiss smunms siosisw's somnss seowss SOwsis Reais 1 DIRENS Hees RESES §anems s 50 42
Model 11  sossnesismes sisnss svaens sunsus sevmss s05avs Sohs 50506 £ aess SES0RE CHR0SSSFHRE 8 SRRE S NETEE £ 655 46
MGTEL 1T rmroerieitmsmebon miiioemss Groselalon Siiinss Smcesemin wiiissis 80 5baloos A0 Blbnsnomulibre smsse Brsnoisons Scmearmcnonns 51
1 e 1 T 56
158 P R 60
Model 15 5 eosmss srissssssimans snmms vasisns swawns ssaass snvess vpsass seees SEenes Soawss veasss Soesss Sawes as 65
. N — 69

F#E WHEX EFX . ERS5HEH

Modal 1 sess sesnen somsss sssses sosss ivaies co5es 6965 55566 S G555 8 5503 S65NE 68 00 ETF08 605008 00005 548 73
IVEGTE] 2 -cimim e .o i cmsmun imenm 1 1318588 0B850 10180818 16585858 10.51008 1819TCHES 14 SP4CHER QISR iMERERI imiim it 83
15T P 15 94
Modal 4. ses swsmes ssmuss ssauns snsmss suaeis sa o £HEw S SVE106 S4UH05 FHES WS CORHHE SRS AOEHT 8 SETIS SETHAS 105
MoTBl .5 o somoni ssmms somss s s5ams s smws § SoRRH § 56050 5 SRHEH 5.55F08 5E0RES S540HR v boinins mesmms womren swsome o 116
Model 6 wos ssonus sumsus sovmes coman s soesi 5 56055 6.5005 § S6U0 6550 & A 5GHAS #6000 w5-60inn mveisinm siomierms iwe s 0re o 127
NIGHET T 6 60505 5aies 5005505 Rahbas eminios aibochis § 31650/05, 5.0 imse 3 6000103 010181818 9101805018 40001818 4100105070 simmisie miairormie o 138
IMOAE]L 8 v veermeeemnenetene ittt taseeaaeaaeesaeeaaneaeeanesaeaateaneansarnaenneeaneaanans 149
11157 P 1 T PP 160
Model T e somens summms spmwn sumos ssmes s guses s SEEap S B SERHE v LAHIEoH SR3E Al A8 SETHTH FEFH 171

Model T sve connss cnusas snanms oauss resss sossss ssnmes SFamss swamss seesis Suenas Fuswes 594 Swaines saess s 181






ERWESE ««







ol ImhEmils »

>>> Modell <<«

Section A

Directions : In this section, you will hear 8 short conversations and 2 long conversations. At the end

11.

12.

13

14.

15.

16.

17

18.

of each conversation, one or more questions will be asked about what was said. Both
the conversation and the questions will be spoken only once. After each question there
will be a pause. During the pause, you must read the four choices marked A) , B)
C) and D), and decide which is the best answer. Then mark the corresponding letter
on Answer Sheet 2 with a single line through the centre.

A) One. B) Two.
C) Three. D) Four.
A) Employee and boss. B) Classmates.
C) Customer and salesman. D) Colleagues.
. A) At a restaurant. B) At a bank.
C) At an airport. D) At a drug store.
A) Do her homework. B) Clean the backyard.
C) Wash clothes. D) Enjoy the beautiful day.
A) Not getting what she wants. B) A custom that is new to her.
C) Calling up customers. D) Some of her good friends.
A) Secretary. B) Reporter.
C) Teacher. D) Shop assistant.
. A) The man shouldn’t expect her to go along.

B) She doesn’t think she has enough money.

C) She’ll go even though the movie is bad.

D) The man should count the number of people going.
A) She does not agree with the man.

B) She thinks that it is better to wait.

C) She thinks that it is better to drive at night.

D) She does not think the man made a wise decision.

Questions 19 to 22 are based on the conversation you have just heard.

19.

A) Walk around with the man.
B) Study in her own dormitory.

Model 1 [ 3
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C) Visit some place in the city.
D) Do some shopping by herself.
20. A) Times Square.
B) Washington Square Park.
C) Rockefeller Center.
D) The Empire State Building.
21. A) It’s inconvenient.
B) It’s often unpunctual.
C) It’s not quite fast.
D) It’s usually jam-packed.
22. A) Taxi. | B) Bicycle.
C) Bus. D) Subway.

Questions 23 to 25 are based on the conversation you have just heard.
23. A) The color doesn’t suit him.

B) He finds it much too big.

C) It is too small for him now.

D) The quality is not good.

24. A) Give his money back. B) Help him fix it.

C) Wash it for him. D) Exchange it for him.
25. A) Angry. B) Indifferent.

C) Satisfied. D) Miserable.
Section B

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will
hear some questions. Both the passage and the questions will be spoken only once. Afier
you hear a question, you must choose the best answer from the four choices marked
A), B), C) and D). Then mark the corresponding letter on Answer Sheet 2 with a
single line through the centre.

Passage One

Questions 26 to 28 are based on the passage you have just heard.
26. A) It is the time when he should get up.

B) Someone is to commit suicide.

C) Someone has been rescued successfully.

D) He should call jumper’s family.

27. A) Disappointed. B) Sorry.
C) Cold. D) Helpless.
28. A) Communicate. B) Persuade.

Model 1



C) Beg. D) Threat.

Passage Two

Questions 29 to 31 are based on the passage you have just heard.

29.

A) When they don’t have a car.

B) When they live in a huge country.
C) When they don’t use planes.

D) When they have a car.

. A) The United States is huge.

B) Public transportation is not so good.
C) Americans like to be independent.

D) Americans like to move around.

.A) A new kind of car.

B) Public transportation.
C) The gas shortage.
D) Poor people.

Passage Three

Questions 32 to 35 are based on the passage you have just heard.

32.

(O8]
9

A) He used to live in his parents’ house.
B) He lived in his friend’s house.

C) He rented a house by himself.

D) He stayed together with his friend.

.A) A few days. B) Two months.
C) A week. D) More than a month.
. A) He liked to live with others.

B) He hadn’t found a job and couldn’t afford to rent a house.
C) His house was being repaired.

D) His boss promised him to buy him a house recently.

. A) He enjoys living with his friend.

B) He is angry and sad.
C) He doesn’t care about it.
D) He is reluctant to let him live there.

Section C
Directions: /n this section, you will hear a passage three times. When the passage is read for the

ol IWhEmils  »

Sirst time, you should listen carefully for its general idea. When the passage is read for

the second time , you are required to fill in the blanks numbered from 36 to 43 with the

Model 1 5
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exact words you have just heard. For blanks numbered from 44 to 46 you are required
to fill in the missing information. For these blanks, you can either use the exact words
you have just heard or write down the main points in your own words. Finally, when

the passage is read for the third time, you should check what you have written.

In the English (36) system, students take three very important examinations.
The first is the eleven-plus, which is (37) at the age of eleven or a little past. At
one time the (38) or (39) shown on the eleven-plus would have (40 )

if a child stayed in school. Now, however, all children continue in (41)
schools, and the eleven-plus determines which courses of study the child will follow. At the age
of fifteen or sixteen, the students are (42) for the Ordinary (43) of the
General Certificate of Education. (44 )

Once students have passed this exam, they are allowed to specialize, so that two-thirds or more
of their courses will be in physics, chemistry, classical languages, or whatever they wish to
study at greater length. (45)

Even at the universities, students

study only in their concentrated area, and very few students ever venture out-side that subject
again. (46)

6 ¥ Model 1
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Section A

Directions ; In this section, you will hear 8 short conversations and 2 long conversations. At the end
of each conversation , one or more questions will be asked about what was said. Both
the conversation and the questions will be spoken only once. After each question there
will be a pause. During the pause, you must read the four choices marked A), B) ,
C) and D), and decide which is the best answer. Then mark the corresponding letter

on Answer Sheet 2 with a single line through the centre.

11. A) She doesn’t usually get calls here.
B) She wants a telephone of her own.
C) She is looking for a new place to work.
D) She doesn’t know the man’s name.
12. A) The post office. B) The grocery store.
C) The doctor’s office. D) The cleaners.
13. A) The woman expects the man to make an important decision.
B) The man’s father is a very successful banker.
C) They are both making a future plan.
D) The man is going to succeed in his father’s business.

14. A) 5.00. B) 5:15.
C) 5:30. D) 5.45.

15. A) Mary was dismissed. B) Mary was often late.
C) Mary was lazy. D) Mary went away.

16. A) That the man will not be able to sleep.

B) That someone will enter the back door while the man is sleeping.

C) That the lock on the door will break.

D) That the man will not be able to come back.
17. A) To see a repairman. B) To see the manager.

C) To buy another pair. D) To buy Mr. Johnson a pair.
18. A) The paper must be handed in on time.

B) The question wasn’t very clear.

C) He should ask a different person.

D) His request was made too late.

Model2 7
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Questions 19 to 21 are based on the conversation you have just heard.

19.

20.

21.

A) Play basketball with friends from work.

B) Try out for the company baseball team.

C) Get in shape and compete in a cycling race.

D) Join a basketball club.

A) She is worried her husband will spend too much time away from home.
B) She is afraid her husband will become a fitness freak.
C) She is concerned about her husband’s health.

D) She is worried her husband watches too much TV.
A) He should consume less salt.

B) He should eat less fatty foods.

C) He should add more protein products to his diet.

D) He should reduce the consumption of sugar.

Questions 22 to 25 are based on the conversation you have just heard.

22,

23.

24.

A) Get a traveler’s check.

B) Draw a large amount of money.
C) Ask the man for financial advice.
D) Open some bank accounts.

A) Daily expenses. B) Big expenses.
C) Holidays and travel. D) Education fee.
A) Her ID card and passport.

B) Her personal references.
C) Her social security number.

D) Her cover letter.

25. A) A salesman. B) A real estate agent.
C) A bank clerk. D) A consultant.
Section B

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will

hear some questions. Both the passage and the questions will be spoken only once. Afier
you hear a question, you must choose the best answer from the four choices marked

A), B), C) and D). Then mark the corresponding letter on Answer Sheet 2 with a

single line through the centre.

Passage One

Questions 26 to 28 are based on the passage you have just heard.

26.

8

A) Because they are slower than men.

B) Because people think they are weaker.

Model 2
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C) Because there are no famous women Prime Ministers, scientists and writers.
D) Because their lives are shorter than men.
27. A) Boys and girls are often taught separately at schools and universities.
B) Both the European woman and men can expect to live until the age of seventy-four.
C) The fastest men can run a mile in under three minutes.
D) The best women need four and a half minutes to run a mile.
28. A) Married women. B) Unmarried women.

C) Twenty years old girls. D) Teenage girls.

Passage Two

Questions 29 to 31 are based on the passage you have just heard.
29. A) You can only succeed if you are optimistic.
B) What you achieve is not related to optimism.
C) Optimism can lead to success.
D) Optimists are never disappointed.
30. A) We are not told.
B) An insurance company.
C) An industrial firm.
D) The telephone exchange.
31. A) He blames himself for everything.
B) He does everything wrong.
C) He is no good at his job.
D) He cannot deal well with other people.

Passage Three

Questions 32 to 35 are based on the passage you have just heard.
32. A) The meaning of “Happy New Year!”

B) What date New Year is celebrated in different cultures.

C) Various New Year traditions.

D) Why people make resolutions.

33. A) The United States. B) Spain.
C) France. D) Not mentioned.
34. A) Something you burn. B) Something you eat.
C) Something you say. D) Something you wear.
35. A) Black-eyed peas taste bad.

B) One pea brings one day of luck.
C) The peas are very difficult to cook.
D) It is bad luck to eat a lot of black-eyed peas.

Model 2 9
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Section C
Directions: In this section, you will hear a passage three times. When the passage is read for the

first time, you should listen carefully for its general idea. When the passage is read for
the second time, you are required to fill in the blanks numbered from 36 to 43 with the
exact words you have just heard. For blanks numbered from 44 to 46 you are required
to fill in the missing information. For these blanks, you can either use the exact words
you have just heard or write down the main points in your own words. Finally, when

the passage is read for the third time, you should check what you have written.

Coal has not been used very extensively as an energy source recently. However, it (36)

will become a very important source of energy in the future because of dwindling

(37) of natural gas and oil. Although coal (38) to be black, it actually

has black, yellow, orange, and red bands of color when it is examined under a powerful micro-
scope.

Coal probably was formed about 300 million years ago by (39) trees and other
plant life growing in (40) . These trees and plants died and then fell into the water.
They contained the elements oxygen, hydrogen, and (41) . As the earth changed its
(42) , the weight of the ground (43) down on the trees and plants. Thus
seams of coal were formed.

(44)

. Strip mining

is quicker and safer than underground mining, but it can leave the surface of the earth bare and
ugly. (45)
While both underground and strip mines still can be hazardous, there no longer are as many ac-

cidents in coal mining as there once were. (46)

Many of today’s coal miners are earning good wages in an occupation which is quite safe and

very important.
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